Term 2 Review Name: \L E—Ej

Secondary III Date: Class:
Units 4, 5, and 6

Unit 4: Complex Zeros of Polynomials
Perform the indicated operation and write the result in standard form
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Solve the following polynomials
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State how many complex and real zeros the function has
7. f(x)=x*-2x*+3x—4 8. f(x)=x"-2x*-3x+6
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Write a polynomial in factored form with minimum degree given the following zeros.
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Write a polynomial in standard form with minimum degree given the following zeros.
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Find all the zeros and write a linear factorization of the function
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Use the given zero to find all the zeros of the function.
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% Solve algebraically the following rational equations
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Multiply or divide the following rational expressions and find the excluded vales.
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Find the LCD of the following rational equations:
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9. Arestaurant has two pastry ovens. When both ovens are used, it takes about 3
hours to bake the bread needed for one day. When only the large oven is used, it
takes about 4 hours to bake the bread for one day. About how long would it take to
bake the bread for one day if only the small oven were used? Explain how you got

your answer.
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Unit 6:'Rational Graphs

Find the following information and graph each rational function: 4
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Solve the following inequalities using a sign chart:
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Given the following functions, find all holes, asymptotes, and intercepts.
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10. How do you find the asymptotes (vertical and end behavior) of a rational function?

Verncal Asymplotes: Set the denominator &al to O
End behavior -

11. A basketball team has won 16 games out of 23 games played, for a winning
percentage (expressed as a decimal) of é—i— ~0.696. How many consecutive games

must the team win to raise its winning percentage to 0.750?



